Lolly Pop grundi

Snood
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Lolly Pop grundi

Snood

Quality:

Lolly Pop (Grtndl)
100 % acrylic
150g/240m

Size: Circumference 130 cm, Height 25 cm
Usage: approx. 300 g
Needles: 1 pair 5 mm (UK No 6) or 6 mm (UK No 4)needles.

Pattern:

Structure patt: (Multiple of 4 plus 2 selvedge sts)

WS row.: Selvedge st, *p 1, k 1, sl 1 p-wise with yo, k 1, rep from * cont., selvedge st

RS row: Between selvedge sts: k all sts and k the st that was slipped in the previous row tog with its
yo tog.

Rep these 2 rows cont.

Knotted selvedge st: at the beg of row, first st: sl 1 k-wise. At end of row, last st: k 1.

Tension: (measured over structure patt)
17 stsx 24 rows =10 cm x 10 cm

Instructions:

Cast on 43 sts (41 sts plus 2 selvedge sts) and work in structure patt (first row WS row). When work
measures approx. 130 cm ( = 313 rows) in the next RS row cast off all sts in patt. Join seam by
sewing cast on and cast off rows tog.

Abbreviations:

beg = begin(ning) * cm = centimetre(s) * col = colour(s) « cont = continue (continuously) « dec =
decrease ¢ dpn = double pointed needles ¢ foll = follow(ing) « g = gramme(s) ¢ inc = increase * k =
knit « k-wise = knit wise * M1 = make one through back loop « m = metre(s) « mm = millimetre(s) « p
= purl « p-wise = purl wise ¢ patt = pattern « psst = pass slipped st over « rem = remain(s)(ing) ¢ rep
= repeat * rnd(s) = round(s) * RS = right side e« st st = stocking stitch ¢ st(s) = stitch(es) * tbl =
through back loop * tog = together « WS = wrong side « wyib = with yarn in back ¢ wyif = with yarn in
front

www.gruendl-wolle.de Seite 2 von 2


http://www.tcpdf.org

